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Fourth Semester B.Com. Deglr’ee Examination, September 2020
COMMERCE
Paper 4.4 : Cost Accounting
(CBCS) (Fresh + Repeaters) (2015 - 16 & Onwards)

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written either in English or in Kannada.

SECTION - A/ —

1. Answer any five sub-questions, each question carries two marks. (5%2=10)
QAN T3 DD waﬁ—@’%’f@ﬁ WU30R, B3 gz‘%ﬁ DT 203N,
a) Define Costing.

303 dear o ddé‘éodo .85 dedd.
b) What is Tender ?
£30B0° 0TI ?
¢) What do you mean by bincard ?
VI TEE 0TI ?
d) What is Machine Hour Rate ?
a3 Fotdodd TC eTded ?
e) Name any four techniques of Inventory Control .
F0R D030, £aT CIRFYTTTR I, SOZII) BROR.
f) What is Memorandum Reconciliation Account ?
B0BRTY,0BRT BRoTEIT a0 DOTTE ?
g) Define Labour turnover.
PROFT S 0D 3, B
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BECTION - 1/ g - ¢
Answer any three quesiions, each oarries slx marks.

RN S Bt e, o et 6 eacmril

2. Briefly explain the objectives of Cosl Aceounting.

m;; ejémzij:j emr,gg*zﬁﬁﬂma:rn'oeg{g:af;;:\:,n L0,

O

3. From the following information, caloulate, FOG and caleulate number of ordors

to be placed in a year.

a) Quarterly consumption of malerials, 2000 uniin
b) Cost of placing one order Rs, 50
c) Cost per unit Rs. 40

d) Storage and carrying cost 8% of Inventory,

B BN anbsoor wod earies Mgy morn @i o), wil) el
p‘ [ax] g

EDORRORS B @owdsig\, FOrELLEOMD,
a) 2 @0a8 Lels 508, 2000 ek
b) 2080 588 BIE worpwaE L de, 50
) B3 TLIEE SIS sddr o, 40
) TR TR TIDESED B3, 8% MmN Eded,

Q O

4. Calculate Total Factory Cost and Factory Cost per
information:

Number of units of raw materials consumed
Cost of material consumed

Direct wages

Direct expenses

Factory O/Hs

Opening stock of work-in-progress (2000 units)
Closing stock of work-in-progress (3000 units)

unit from the following

Rs.
10000 units
1,00,000
50,000
30,000
1,20,000
60,000
?
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AR RO i R WS 2RI §rwon SIS 38R Inescoed
SN SHAD 1R advedirny Ross 10000 ORI
T T
N *\,‘ :&q Wi\ \\?::Q\ \Jn‘@ o sz" 1 ’00 000
Je3 DDB/RO 50,000
NRei ] 30,000
Freds e i ndd 1,20,000
TRALY TS BT T ¥3IeRs W (2000 SHRJIFNLR) 60,000
TRADOTS DI T a3 R (3000 SRIETTLD) ?

Standard time allowed for a job is 15 hours, at the rate of ¥ 50 per houir,

actual ime saved by worker is 3 hours. Calculate his earnings under Halsey
System and Rowan System.

2O tr:ci':.\. _ﬂ“:\i AR T 5033 15 nosny Sdﬁjxmdﬁa AROITRREOOR. 2,

Fodwd, 3 totinyd [ \:d&::*ﬁ: b nYal sma}::::b asao :ixs’a BRI oimmﬁojs
T5d oSS FROD eﬁi o8
~N

From the following information compute a Machine Hour Rate of Machine No. 20
for the month of July.

Cost of machine ¥ 32,000

Estimated scrap value X 2,000

Effective working life 10000 hours

Repairs for life of machine X 2,500

Standing charges for the month of July ¥ 400
Power consumed by machine @ X 0.30 pu. ¥ 600
The machine consumes 10 units of power per hour.

31 39S In e ::,:::‘i \w:\ 203 o 'Vﬁ CS@CS‘&%‘ m&% 3071%*@”%0{33&0&0336.

o3 LA oro. T 32,000
Ok 2,000
3% 10000 motingd
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QECTION - O/aggen- b

Answer any three questions. Eaeh anawel oartien 14 ke (% 14 "
CRRTRERR Rowch st engtn, H ungc 14 S
N\ v -

7. PNK Engineering Company manutactured and golcl 1O tmachines in 2o gy
Following are the particulars obtained -

Cost of Materiais 80,000 Rent & Hates 10,000
Wages paid 1.20.000  Selling expentes L:‘\U‘tf}l)t)
Factory expenes 0,000 (Qeneral expenaes 0,000
Salaries 60,000  Sales 4,000,000

00 machines in 2019, You are taqguiied

The company plans to manufacture 12 18, YOu are required
0% on gelling price. The

submit a statement showing the price to earm 4 profit of |
following additional information is given o you.

a) Price of material will rise by 20% on previous year'a price.
b) Wage will rise by 5%.

¢) Factory expenses will rise in proportion to th

wages.
d) Selling expenses per unit will remain unchanged.
e) Other expenses will remain unatfected by tise in the output,

o combined cost of materials and

P N - o ) W W W TR IR PR \ v @)
PNK QOTINOOTY gomaow 201 8 O\Q‘:\‘ 1 OO0 \\\\‘_\\\‘g\\"\\kl\\\\ ISR AR LU AT e RUN IR AT SN
. : a

9338 TS B8 FENRST,

TN 3, 80,000 wamdasan 10,000
DR 8RO 1,20,000 Qo s 30,000
SR \ms:’g?‘d 50,000 gy AR AL 20,000
Fe3INEL Q0,000 o 400,000
ZoR00 2019 T 1200 ohoB Ry Aot v;\%;i';'\‘\\\;‘: £oaninid et ae
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8. GB Ltd. uses copper wire as a raw material which is purchased from the

market. The following particulars are available in respect of the transactions
for January 2019,

Jan. 1 Opening balance 300 kg. at ¥ 25 per kg.
Jan. 3 Purchased 500 kg. at ¥ 26 per kg.
Jan. 4 Issued 220 kg.

Jan. 10 Issued 440 kg.

Jan. 20 Purchased 490 kg. at ¥ 23 per kg.
Jan. 25  Issued 300 kg.

Jan. 27 Surplus 20 kg. returned to store out of quantity Issued on Jan. 4
There was a shortage of 25 kg. on Jan. 15.

Prepare Stores Ledger for these transactions under LIFO and FIFO methods.
GB douie 5xo° S0 55, Rsoniven Snddgtiond oed Sne),
%2x02019 TE085) 83 97 SRRDATBT.

Ro=0 - 1 5808 eues 300 322, Fd 3e8.18 25 O,

wSB0 -3 9D0ed 500 B3 B3 §23.74 26 T,

W3IS0 -4 eqd 220 B,

W3IS0 - 10 Qedd 440 e,

®IEO - 20 D0 490 #23. [ 3231323 T

®IN0 - 25 eddd 300 B3,

BIN0 - 27 OTT 20 Fe2. OB, WO ~ 4 T VEBFOWOT S08TONKTRNT,
DF0F 15- wIR0CT 25 323, FRIIOINNT.

Y doee%od SRdoos, FIFO &02) LIFO a’%@oﬁ@jdﬁ:ﬁej ;rmzécdaaigt clovinle))

9. From the following, prepare a Reconciliation Statement, calculate profits as
per Financial Accounts.

a) Net profit as per Costing records 1,72,400
b) Works overhead under recovered in costing 3,120
c) Office overheads recovered in excess 1,700
d) Depreciation charges in financial records 11,000
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e) Interest received but not included in costing 8,000
f) Income tax provided in financial books 40,300
g) Bank interest credited in financial books 750
h) Store adjustment credited in financial books 475
i) Depreciation of stock charged in financial books 6,750
i) Depreciation recovered in costing 12,300
FHND DWORYOT B0t esT BB o0, BT SRIIRL BEC T,

o
BOTIEEICD.
a) ﬁ%&t@s‘oﬁam@eﬁ#ﬁo@ Wo0TR Y 1,72,400
b) 3 Qear 030z0R, 38, WIS T RoeensSInvad,
FRRD TR TR0 3,120

C) SWEE VS BEN SR, GBI VTR DBOTIYT) 1,700
d) TEFRD YFBEA) BROBSINTRS a3 11,000
e) 3 deorozR, SERRER FeOROTIRD W, 8,000
f) BeavoRd YRBEO LBNRGDNTI ST 0D 3oR 40,300
Q) BETRO YRS, SgF SREIBR0BTIS 1,085 LB, 750
h) ®cotoRd PRBRE), BIBTRS TR BROWEST 25300 DR 475
i) BETRd YFFRD, BROXTI THAYR B0O Ress? 6,750
j) &, Qear 0HTORTE B0t BEDTI ATV 12,300

10. A Factory has three Production Departments and two Service Departments. The
overhead distribution summary shows the following :

Departments Amount (%)
A 6,300
B 7,400
C 2,800
X 4,500
Y 2,000



O

The Service Depantmental expenses of X and ( are

percentage basis as follows

A P 3 R IR, A s R £

Particulars

R R

(e

i e S S A TS0

Service Departments A

Production Departments
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t0y e distritated on a2

N SRS

g

e
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B X

Y

i T e
p 0% | so% | 2% | - | 1%
; ]
v ¢ o —
Y 30% | 30% % 20% | 20% B
4 5
Prepare a secondary overhead distribution summary under.
a) Repeated Distribution Method
b) Simultaneous Equation Method.
> - ,"‘—': « ”e-‘.‘:.?‘?::: ::::;ng
0T T2ETOF #00E) o200 YUTL T TR LN ZRTA LTS 5 SRS, =,

SIS0 T B2 TONTCET :

TorY s

X O W >

b §

(=)
6,300
7.400
2,800
4,500
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t1. From the following, you are required to calculate the earnings of a worker for a
week under :

a) Straight plece rate system
b) Taylor's differential piece rate system

¢) Halsey Premium Plan,

d) Rowan Premium Plan
Weekly working hours 48
Hourly wage rate () 30
Piece rate per unit (3) 12
Normal time allowed per piece12 minutes
Normal output per week 240 pieces
Actual output for the week 300 pieces

Differential piece rate 80% of piece rate, when output is below normal and
120% of piece rate when output above normal.

31 FH0R RTNP0T FORMIT T ZRAODR FoBRBERCD.
a) J¢3 20 I3 adc:é%&iao@
b) 30T TR DT BoR> BT BHSeD0S
) TS &ye00D0T03 3039
) BRI 60000 03ReRS050E
0030 T3S SRS rlotindo48
nodr 900 B33 (%) 30
3 abere 20w 39 [7) 12
23 Booant QeETIE AT B0 12 QR
43 oo, M QU 240 Soorted
QBT YOI =008, 300 00BN

203 0@ T3 Je. 80 To3 22030 OB F0eeS ForREBOZNEIHT, LVBITIOID
ORI, PBITINCT BRI a8, 3¢ 120 Tod 80000 Bos Soed 30@0&;530&;?)-33
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